1 1 300 3 5 1 1
2 2 3 4 65
(A) 121 (B) 122 (C) 136 (D) 137
2. 1+ X +ax—-2=0 a=
(A) 2 (B) 2 (C) -2i (D) 2i
3. i i—1
(A) 4i+1 (B) -5 (C)—4i-1 (D) 5
4 n N
10 ?
(A) 159 (B)162 (C) 165 (D) 168

1 /\ 2 /\ 3 /\
3 9 /NN 18 VAVAN
VAVAVAN

5. keZ fx)=x+k  g(x)=x +3kx+2 1 k=
(A) -2 (B)2 © -1 D) 1
6. degf(x)>3 f(x) (X* =3Xx+2) (X —4x+3) 2x+2  x+3 f(x) X —5X+6
(A) x+6 (B) x-6 (C) 2x+6 (D) 6
7. X —6xX*+11x—=6=0 ?
(A) -1 (B)6 ©) -2 D)3
8. 20% ( ) 2
( 10g2=0.3010, log3=0.4771)
(A) 4 B)S5 © 6 (D)7
9.  AABC ZC=60°,AC=500 ,BC =400 AABC
(A) 507 (B)100+7 (C) 2007 (D) 3007

10. sin9+cosezé, §<6<n, sin20=

24 24 1 1
A= B)- == C)— D)——
()25 ()25 ()25 ()25
11. AABC E AC AE:EC=1:2 D AB BE CD F AF = xAB+ yAC
(xy)=
22 23 21 3 1
A) (2,2 B)(=,2 C)(=,= D) (2,-—
(A) (-55) B)(5.7) © (5.3 (D) (£.-3)

PS: AF AF
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

A 0,6) B (3,00 C
(A) (2,2) (B)(1, 4) (O3, 3)
.x_+1_y_—1_5 _x—l_X_z+2
Ny T T R TaT
(A)2 (B)3 (C) 4
X—y—-z=k kx-3y—-4z=6 x-ky-3z=4
(A)2 B)3 (C) 4
A O: X +y*-16=0 0] 0)
BC =
(A)2 (B) 3 (C) 4
x>+yr+z2 =4 A(l,-1,4/2) B(1,1,42)
1 2
(A)gﬂ (B)gn (O
Yy +8X—2y+17=0
(A) (=2, 1) B)(-2,-1) (O(1,-4)
y -1 2) 2 4)
A3 1 B) (O 4 O3 3)
45 108
(A) 50 (B) 51 (C) 52
10
(A) 2 (B) 21 (C) 120
3 9 3
3 4 1
(A) = (B) 3 ©) 2
2 2
2 2 12
(A) 1 (B)-1 (C)2
X 10 3 2X=3Y-5 Y
(A)3 (B)-3 ©2
A B I 0
(A) det(A)=0  (AB)"= A"B" (B) det(A)=0
(C) det(A)=0 AB=BA (D) AI=0O
1 2 37[x 2
2 4 S|ly|=|-3 y =
35 6|z 5
(A) —20 (B)-10 (C) 10
ABCD AB 243 ABCD
(A) 22 (B) 243 (C) 246

AB AC:BC=2:1

20

C

(D)2, 1)

(D) 5

(D) 5

y

(D) 5
A B

D)3
(D)(—4, 1)

(D)4 2)

(D) 53

(D) 720

(D)

AW

(D) -2

(D) -2

(D) 20

(D)3+2

A’ - B = (A+B)(A-B)
A=0

OBAC

34



27. A B C A 6 B 4

C 12 2 A 4 B 6 C 3

6 A B C 20 10 15 X
y

(A) 10 (B) 12 ()6 (D) 8
28. X a¢ 2ax 2a 3 0 a

(A)a=1 (Bya=>2 (C)a=3 (D)a=4
29.y 3 5sinx 2sin’x xeR

@ 2 B)6 OF (D)3
30, a0 D D ynex.ay) a

16 9
(A)2 (B)4 (C)8 (D)16
31 40
31.
. 2" +3" T _

(A) <(—5) > (B)<—3n > (C) <3-(-1)"> (D) <(§) > (BE)< (0.9)">
32. f(x)=x —4x+2 p f(p)=0

(A2 3 B)1 2 ©0 1 (D)2 -1 (E)-4 -3
33. f(x)=a,x"+a,_ x"'+ +a,x +a, n a beZ

(A)ceR,x c|[f(x) f(c) O

(B) ala, , b|a, ax b f(x)

() n f(x)=0

(D) n f(x)=0

(E) f2i+3)=0  f(2i-3)=0
34.  abceR f(x)=ax*+bx-3 Q2 -1 X

(A)a 0 (B)b*+12a 0 C) vy (0 -3) (D)a+b-3 0 (E) 2 7)
35.

(A)2* =log, X (B)2*=x

(C)xeR 2¥ > X (D) x>0 2X > %

)6 - g, %
36.

(A) A=A,=A,=A,=0

(B) =0

(C) A=A,=A,=A,=0

(D) A=0

(E) A=0 A, A, A, 0




37.

38.

39.

40.

‘\/(x—4)2 F(y-6) —J(x+8)* +(y-2)*|=12
(A) 4 -2) (B)
(® 4 6) (-8 2) (D)
(E) x-3y+14=0
6 5 5
6 5 17 6 5 5 4 7
(A) CLC,Cy (B) C1C1C1C1Cy
6 5 6 5 6 5 4 5 4
(C)C3C2+C2C3 (D)C1C1C1C1C1+C
11 6 5 6 5 5 6
(E)Cs Cs Cs C4Cp CyCy
R 12 B
N N
(AN=N, B)P<B (©N<N, D) P=R
(A)
X2 y2_
(B) (3,4 2 T
X2 y2_
(C)  (0,0) 1 T
(D)
E) I I N I,

(E)P>B



